S (2k = 1) + Yk (26— 1) O] 22

@® 70 @ 80 ® 90 @100 ® 110

~&B

sz 1(2k = 1) + 3 (2k 1)
=Yt (2k-1) =232 k=32, 1
10-11
=2.— "1
5 0
=110 -10 = 100




12, (11 - k) 2] gh& Fstolat,

0 (11-k)=10+9+8+---+2+1

10 11
=30 k= ——" =55




3.

e F 8L ALY

flo

@ 14+4+7++0Bn-5)=>7_1(3k-5)
@ 24+4+6+-+2(n+1) =33 2(k+1)
® 34547+ +(2n-1)=>7_1(2k+1)
@) 145464+ (n+3) = Yh,(k+3)
® 3+44+5+--+n=>_1k

B

D1+4+7+---4(3n-5) = S (3k-2)
@2+44+64--+2n+1)=3112n
®3+54+T+--4+(2n-1) =51 (2 +1)
®@34+4+5+-+n=33(k+2)




4.

SO0 k(k 4 2) ] FHe?

@® 460 @ 468 ® 478 @ 480

~&B

@ 484

Sty k(k +2) = 32 k(k +2) = SR k(k +2)

= Y ila (K + 2k) = Yo7y (K + 2K)

=Y W0 R +2510 k- (3+8)

10-11-21 19 10-11 3
6 2

=38 +110-11

=484
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Sierax =A, Yo b =B W, e & &4

@ Yici(a+b)=A+B
@ Yi-i(a—by) =A-B
® Yioicar = cA(R, c=785)

Ozn-i-l bk 1= -1

® Yioi(ax+c)=A+cen(D, ce8)

ZnJrl bk 1= Zk 1bk
getd | @7t 27 %}.




6.

a1 +as+as+ -+ ag s S 5 °l-&sk] LERHE?

O 2 a @ Y2 an ® Y2 ani1
@ YL a (@)2221 aok-1

~&B

®Z,?ilak=a1 +az +az+ -+ agg
@ Y2 a1 = ar +as+as+---+aigr
®Zgi1a2k+1 =az+ast+ar+---+agg
@R ay=ay +ax+az+---+aso
@2?21021(—1 =ai1 +az+as+ -+ ag




T, Y a =20, Yo b =5L W, Y0 (2a, — by — 1) 2] G2

@ 15 @ 20 @2 @30 ® 35

~&B

(0171 A)
= 221?:1 ak—21§=1 bk—Z;?:l 1
=2-20-5-5

=30




8. YWx=431y =64, S0 (3x —2y) ] F2 Fotoizt.

> E

> He: o

Q1B = 2m) = 352w - 238w
—3210(1]x, 2510y, =3-4-2-6=0




SRE R

UL (k2 + k) = S0, (k2 + k)

@

16 ® 18 @20 ® 22

(B +k)=(124+1)+(224+2)+(32+3) =20




10, Si% ar =3, S b =54 W, S0 (ax + 2 — 1) © 3122

® 1 @2 @) @ 4 ® 5

D (ot 2h-1) = T 0+ S0, 25~ X0 1
=Yidia+23 32 b - 332 1
=34+2%x5-10=3




11.

a}lar =1, ajo =302 HET W S0 ap1 =S40 ar1 2

S et Gt = Yokl Gk

= (a2 +az+--+ag +a) -
a+az + -+ +a)

=-a; +ap=-1+30=29




12, 0 jar=5 S0 b =72 W, S0 (3o + 2by) O] B2

@ 21 @ 22 ® 23 @ 24 @29

Yokt (Bax + 2bi) = S0y 3ax + 0y 2bx
=30 ac+23 - b
=3X5+2x7=15+14=29




13.

/\
_'_
KeX
—

r‘)

® 25

{a,}oll otd ay = 1, ap = 328 W, 3732 (axe1 —ax) @ 7

@ 27 ®@2 @ ® 33

Sy (@1 — ar)

= (ag —a1) + (a3 —az) + (as —az) + - - - + (a11 — axo)
:a11—01=32—1:31




14.

ohg 5ol B8 ¥ 7188 A e

34+6+12+---+3-2"1

@222132"‘1 @ St 3.0kt
@ Y32 ® Y32t

® Y32

A kFL3.21 F $polBg
3+46+9+---+3-21 =573 21




15, S (@ +1)2 =100, S0 (ax+2)% =200 wf, 5% ap ] 3H-22

@3 @0 05 @ G5

B ~
k 0 (a? 4 2a; + 1) =100---@
21 (a? + dag +4) =200+ ©
O-@2 318 12, (24 + 3) = 100
2500 a; +30 =100, 2542, ax = 70
S a =35




16. ta& A4tsteizt.

1-142-4+3-7+---+10-28

Ch "
=

[ 2
> ®eh: 1045

~&B

1-14+2-443-7T+---4+10-28
= Yit1 k- (3k-2)
= 1%21(3"2 _2k>
:321121 2_221121]‘
.10-11-21 _s. 10- 11
6 2
= 1155 - 110
= 1045




17. 1-204+2-19+3-18+---420-19] Zk&?

@© 442 @ 882 @1540 @ 3080 ® 3528

~&B

(FA) = 20, k(21 - k)
=213 00 k=30, k2

20-21 20-21-41
=21 = = 1540
2 6




18. 43 HY] § 2 AL BE WE ALY

H7
@ 34+94--- 431 = 2;113k—1
@ 1n+2(n—1)+3(n—2)+_|_n1:zz=1k(n_k)

© 1-1+2-2+43-2244-234...410-2° = 5,2, k- 2¢1

e 00 @ @oe 606

B

@. 3+ 94+ 31 =302) 3H(AA)

©. 1-n4+2-(n-1)+3-(n=2)+---+n-1= Y k(n—k+1)(7]
)

©.Fo1 L9 g2 n- 21 0| HE

1:14+2-2+43-224+4-23+...410-27 = 52, k- 21 ()




19. 32 a2 =20, 3% 4 =52 o, 32, (24 — 3)2 2] 327

@110 @ 120 ® 130 @ 140 ® 150

~&B

1%21(2%—3)2
=Yl da; -2 120+ 372, 9
=4x20-12x5+9x%x10
=80 -60+ 90 =110




20. & a =10, 8 af =20, D W 8 (@ + 1)+ 38 (a-2)?

o] gh2?

@520 @ 540 ® 560 @ 580 ® 600

~&B

2 (a + 1)% + 302 (a4 - 2)?
= ,1001 (2a? — 2a; + 5)
—9. 2100 _9. 2100 a + 2100
=2-20-2-10+ 500
=40 - 20 + 500 = 520




